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Electronegativity chart of the Elements
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1) In each of the following pairs, circle the species with the larger atomic radius:
a) Mg  or  Ba	
b) S  or  S-2	
c) Cu+2 or  Cu	
d) He  or  H-	
e) Na  or  Cl

2) Circle the best choice in each list:
a)  largest radius:  	 S-2  or   Cl
b)  highest electronegativity:  	 As,   Sn,   S
c)  smallest atom:   	Na,   Li,    Be

3) Rank the following elements by increasing atomic radius:  
carbon, aluminum, oxygen, potassium

4) Rank the following elements by increasing electronegativity:  
sulfur, oxygen, neon, aluminum

5) Why do elements in the same family generally have similar properties?



6) Within a period, does the size of the atom increase or decrease with increasing atomic number?  

7) Within a family, does the size of the atom increase or decrease with increasing atomic number?  

8) When metallic atoms lose electrons do they form smaller or larger ions?  

9) When nonmetallic atoms gain electrons do they form smaller or larger ions?  

10) From each of the following pairs, circle the larger particle.
a) Na   or   Li		
b) Br   or   I		
c) Cs   or   Ba			
d) Ne   or   Ar

11) List the three lightest members of the noble gases.




12) Within a group, what happens to the atomic radius as you go down the column?  Why does that happen?






13) Within a period, what happens to the atomic radius as the atomic number increases?  Why does this occur?
 



14) How are the shielding effect and the size of the atomic radius related?




15) How are neutral atoms converted into cations?  

	



16) How are neutral atoms converted into anions?




17) When an atom becomes an anion, what happens to its radius?



18) When an atom becomes a cation, what happens to its radius?



Answer key


1) S  or  S2-
2)  largest radius: S2–, highest electronegativity: S, smallest atom: Be
3) From smallest to largest:  oxygen < carbon < aluminum < potassium
4) From smallest to largest:  neon < aluminum < sulfur < oxygen
5) Because they have similar electron configurations and the same number of valence electrons.  Because valence electrons are responsible for most of the chemistry we observe, this similarity causes the properties of the elements to also be similar.
6) Decreases
7) Increases
8) Smaller
9) Larger
10) a) Na; b) I; c) Cs; d) Ar
11) He, Ne, Ar
12) Increases; The element below has one more energy level than the element above 
13) Decreases; Although there are no additional energy levels, there are more charges within the ion allows for more pulling effect 
14) As the radius increases, the shielding effect increases too 
15) To become an cation, the atom must lose electrons	
16) To become a anion, the atom must acquire electrons
17) The radius becomes larger
18) The radius becomes smaller
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